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Surds - Lesson 3

Simplifying Surds 3 - Multiplying Brackets

—

LI
e Simplify surds after expanding brackets.

SC
e 1°"and 2" Rules of Surds.
e Expanding brackets.
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Example 1

Multiply the brackets and simplify :

V3 (7-V3)
= V3 x7 - /3 x+/3
= [7/3 - 3
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Example 2

= 18 x /2 - /18 x /3
= V36 - V9 V2 x /3
= /36 - 32 /3

_ e - 3.6
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Example 3

Multiply the brackets and simplify :

(5 - 2)(V5 - o)
V5 V5 + 645 - 245 - 12
=5 + 65 - 25 - 12

=45 - 7
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Questions
1) Multiply the brackets and simplify.
a 23+42) b V5:5-1 c 7(5-7 d 236 -3
e 32 -5 f 743-8) g V8W2-3) h J6B-2/2)

2) Multiply the brackets and simplify.
a 2 +1)2-3) b (V3 -2H3+4) C
d 2 -V7)N2 ++7) e (W5 +1)7? f

g (N7 - 57 h 35+ 15 +4)

(W3 = 53 + 5)

(W3 — 2)?

3) A rectangle has sides of length (3 + +/2) cm and (3 — v/2) cm.
Calculate:

a the area of the rectangle b the length of a diagonal.
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Answers

1T a 3J2+2 a -1-242 3 a 7cm?
b 5-45 b 2J3-5 b 22 cm
c 57 -7 c -22

d 1243-6 d -5

e 3J:—3J§ e 6+2\f§

f 7J3-56 f 5-246

g 4-2J6 8 32-1047

h 3J6-443 h  27+15(5
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